20.

(a)

(b)
(c)

(d)

Gross total income of Shri. Matisita is
Z 6,75,000

She deposited is RPF € 50,000

She paid donation to a political party
¥ 10,000 and prime Minister National Relief
fund % 15,000

She paid medical insurance premia on the

~ health of her spouse ¥ 17,000 by cheque.

Compute her total income for AY. 2017-
2018.

B wHssr erenueifler flar QLss euGBLTEID
¥ 6,75,000

@ieuit RPF -6 evauggerer enculic) Bl T 50,000

el SrfudandsersE  emuefiluns

Qarhéss T 10,000 wpmbd Grsw wpdfuder
Bl G Beurrer Hdsars QarGass T 15,000

SlGUHELL GiepamTeu(hEEns wHHsIe sTIELH
(PDEILDSSHIHE sTCETEMEOWINS Qarhsss
¥ 17,000 ' i

2017-2018 mi_tiunang @i teung CLTEs

_QU(BLOTETSMS SamHE DS
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(For the candidates admitted from 2012-2013 onwards)
B.Com. DEGREE EXAMINATI()N, NCVEMBER 2017.

Sixth Semester

INCOME TAX-LAW AND PRACTICE —1I

ke Three hours Maximum : 75 marks

PART A — (10 x 2 = 20 marks)
Answer ALL questions.

1.  What is not included in capital assets?

ApavS e @&nggéssserﬂsb CaréslLLTSS) cTeen?

2 Write a short note on capital gain exemptions.

pagar psmunsalar dlese LD @n dp GHUIY
QUM :

3. Give three examples of “Income from other
sources”.

9Gp srrhsaie Qmbs eurssigw eimoradalicn
apeny 2 gryenThismend QT [Hése, L.



10.

What is meant by dividend?

URIGTSTUILD 6T6mLIG6 ClLIM(HeT S(ha.

Write a short note on minor’s income,
Qereur aupomend LHH e S GO S([HS.
What is meant by aggregation of income?
eu(mLoTET Syl L6) eTemLgen GLIT(HaT eTeumer?
What do you ﬁ_nderstand by set-off of losses?
Qi swer Gauige LUHH Hellit Difleug) erevmen?

What is carry forward of losses?

BLL_SenG (Lpei QETERTTH60 GTEIMTE) GTeTEn ?

Write a short note on tax rates.

el efldlgruaer updl @ Hy @GHILY aiays.

Enumerate the amount of deduction U/s 80C.

Gfley 80C Wenr & s fssLEUMDL CAgTarsamu
NerdEs.

2 S.No. 1016

1. (a)

(b)

PART B — (5 x 5 = 25 marks)
Answer ALL questions.

Compute the taxable capital gain from
particulars given below :

(i) Net consideration of a residential house
% 20,00,000 [(2.6.2016) (C.L.L. : 1081)]

(i) Cost of acquisition of this house
% 2,10,000 [(1.5.87) (C.1.L. :-150)] '

(iii) New house acquired on 1.9.2016 for

¥ 2,00,000.
Epaupd eeurrisamer meids il Cegiss
Gouaig Lt APOSET DASTILISS HeES (58, {
® Geu@oly  eilger  Har  wgUwer
¥ 20,00,000 [(2.6.2016) (C.L.I. : 1081)]
() &S0 eurmdw eflenew T 2,10,000 [(1.5.87)
(C.LL : 150)] '
(i) yfu & eourmdu e 1.9.2016
¥ 2,00,000

Or

Mr. James is a film producer. During the
previous year he sold a film projector of
% 1,70,000 which had cost him ¥ 1,50,000
and in respect of which ¥ 40,000 had been
allowed as depreciation during the last two
years. Expenses on sale amounts to ¥ 5,000
Besides, his total income from business was
Z 75,000. Compute his income.

4 ‘ S.No. 1016



12.

(a)

A Gmbev ereuel @ LLE SwmhlLmen.

(PHESW QU(RL_LD @(H UL gSlanreniL

¥ 1,70,0005@ eflpuemer QeusmT. seiemL

2L &8s fene T 1,50,000 wpmid sL_65 @rem
auLsSnsanar Goliwmarnd T 40,000 efpueneans
Qswe; T 5,000, seumeLw edwumimgde
SeUmEEG HeaLss Cwrss eumwrernd T 75,000.
SHOUHE LI QU(HLOTENEENS SHeTéHE (DS |

Ganesan furnishes the following particulars :

of his iIncome for the previous year
2016-2017. Compute his income from other
sources for the assessment year 2017-2018.

T
(i) Dividend (gross) from Ashok 25,000
Leyland Ltd.
(i1) Dividend from a co-operative | 5,000
society
(ii) Interim dividend from Rane 6,000 -
(Madras) Ltd
(iv) Dividend from a foreign 26,000
company
(v) Dividend from U.T.I 3,000
4 S.No. 1016

(b)

&Camgen  eTeTLGUT  (PH@SW UL GHDETET
(2016-17) eumwren L igwene QsrHsgdremr.

priuramep@fu  (2017-18) Gp el
QU(HLDTETSENS Hewradl (Hs.
k4
(1) =Csns Carenani. Hpeuagdenr 25,000

uUmSTSTLD (Qorgsid)

(1) &l (Hmey shssdHdlmbs daoss 5,000

LIBRISTSTILD

(ii1) Gper Quolgred Himeuangdlen 6,000
Qe _s&me LBISTSILID

(1v)  cwepr ( Hyeuasder
LIBISTSUITLD

26,000

) UTIepewrs ﬁmL§§ 3,000

LIBISTSTWILD

Or

From the following details, ascertain the
taxable interest income of Miss. Gayathri for
the previous year 2016-2017 :

Investment in tax free 10% debentures in X’
ltd (unlisted) ¥ 1,40,000. Interest received on
debentures in Y’ Ltd. (listed) ¥ 45,000.

AR S.No..1016



13.

(a)

Speud  efeugmisemer  meusgl,  smuGHM
eranucufler 2016-2017 appevsis e HE
afl Osss Geuamiqw eully eI(HLTATISMS

semES (5.
X erenp Hipeueaisdled o drer 10% sLar LgSrsdle
afl  @Qdoors s
T 1,40,000. Y ey fHpeuensder  siem
Lgglngglen

(Ll iguwiedli_ i mg)

(ulgwelll L gl)  epedinns

- eummidlw ey T 45,000.

From the particuiars given below compute
the total income of Mr. X for the assessment
year 2017-18 explaining each point clearly.

<
(1) Income from profession 86,500
(i) Income of minor son (singing 12,000
' is his profession)
(i1i) Winning from lottery : ticket 6,800
purchased on the name of the
Mr. X’s minor daughter
(iv) Interest on debentures 18,000
purchased by Mr. X’ but gifted
to Mrs. ‘X’
6 S.No. 1016

(b)

Speupd edeurusemer emeusgl S, X eramLicufen

prly pergpefu 2017-18 ° Gorgs
QU(BLOTEITSENS HERTEHE (H. ‘
i3
@ Gamdler epeoid Henl G5 86,500
QU (HLDITEITLD
(i1) @errm.rﬂeisr QU(BLDTEITLD (SHEUTEI 12,000
Qgmpled Lm Gur@eug:)
(i) erliflufed Geuempg: X 6,800
eTedTLIGU(hEn L\ @emeuit oasefle
! Quuiflé @ eurmdluig
(iv) . X curdudlu si_ewr LigHrsdlen 18,000
Bames eul_ig pemmed DiF '
Smwod X eremiieumaE
WTHOULLL ).
Or

Assessee was engaged to be married with ‘R’
The engagement was announced on
30.9.2014 and marriage took place on
15.10,2014. Assessee transferred to R on
12.10.2014 debentures worth ¥ 1,00,000. ‘R’
received ¥ 15,000 as interest on these shares
in Sept. 2015, I.T. O’s contention is that it is
not ‘R's income. Discuss whether LT. O’s
contention is correct or wrong.

7 : S.No. 1016



oufl QegsgiLamsE R eremueumL e glmuoeamrid
Heslssuu@dpg.  Hesugnigsn 30.9.2014
<emmy oo SHepwesrd  15.10.2014. el
QegggGaurt T 1,00,000 wgliyerer &6
usdrsms R-s@ 12.10.2014 sienm  wrdoid
Qawigrr. Qetibui 2015, UnRiGsELEETET UL lg
T 15,000 -;3 R Quppmi. eufleffuGumr R
cenueuflen  eumonaTons  sarsdle) THSSIS
Qsrateredoene. @bs wHIEH sfwur, geupr
eremLieng efleur.

14. (a)
Salary income
Income from house property :

Mr. ‘X’ furnished the following details :
Z 42,000

House A ‘¥ 38,000 (income)
House B Z 17,000 (loss)
House C ¥ 21,000 (loss)
Compute his income for the assessment year
2017-18. ]
dm. X aemueut  Speumd  efeurrisemer
Qar(HsgeTarTTi. :
SLDLIGT GU(IHLDTEULD ) T 42,000
(B Qersdler papaid enl_gs cu(HLOTED : ‘
oG A % 38,000 (augmomand)
5@ B ‘ % 17,000 (pi_Lib)
i@ C % 21,000 (5L 1b)

2017-2018 BLliunerigd eufler aumBLTaE®S
s &S (H&.
Or

8 S.No. 1016

——e

(b) From the following particulars compute the
total income of Mr. David for the assessment
year 2017-2018. ' ;

T
Loss from house property 10,000
Short term capital gain on sale of shéres 1,05,000
Long term capital loss on sale of bonds 85,000
Other sources : interest on Govt. securities 10,000

The assessee has unabsorbed depreciation of
Z 25,000 being brought forward from 2012-
2013. Assessee has closed the business and
all the assets have been disposed off.

Speumd  efeugiisemer eeuss S Grelll
“erenueuflen 2017-18 b g H@Rw Curss

QUHLOTETSME HTES H.
. ‘ 3

&S () Qamgdler tBgren @ipiiLy 10,000
unGasaier ellHLmeuid Gnilw sre 1,05,000
P& ([H QUHLOTELD ‘
sLen LSy elppde Sam_ sre 85,000
eSO @iy
Qs aunf : s usflyhiseflen Bzmer ol iy 10,000

aufl  CeausgsCeurit 2012-20131d  pemmiqen

saadlouLrg  Gsuwrend . 25,0008

wperQarpsg Qaram® eupsri eufl CeaisgGaumt
Awrundens (PigS5 e LT WHDHID SyDaSS
QarggisaEnd ellhsliui el L g

9 S.No. 1016



15.

16.

{(a) State the procedure to be followed in
computing the total income of an assessee.

afl  Qegussiveufar  Qwrsg au@bLIMSEMS

s &S (D Qe Qermn Couatsrig s
BEDL(PEDDEHEET GT(HSIE.
Or

(b) What is meant by deductions from total
income? Explain any five such deductions.

Qurss euHLTETSSHNBHS (GePDLIL| ETETLISET
Qurer. ereran? gEHEID WBF GMOLILISE®ET
afersEaLD.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

Mr. Raj Singh farmer sold a plot of land at Jaipur
on 1.6.2016 (C.I.1. = 1125) for T 14,40,000. He paid
% 40,000 as selling expenses. The plot was
received by him on death of his father on 15.3.85
(C.1.I. = 125). His father had acquired it on
1.4.1980 for T 1,00,000 and its F.M.V. on 1.4.1981
was ¥ 1,20,000.

On 1.10.2016 he invested ¥ 3,00,000 in bonds
issued by Rural Electrification Corporation
Limited notified w/s 54EC and 2,00,000 on
1.3.2017 in bonds of National Highway Authority
of India.

Compute his taxable capital gain.

10 S.No. 1016

1t

. Trpdles erevueu’ QgguiLyfled o e gengl QLSS

¥ 14,40,0005@ 1.6.2016 ey efipuemen Qeligmi.
1125) et Qelg elhueer Gewey
¥ 40,000. 15.3.85-60 sieu gpens @ops G9DEG SHS

(CLI. =

@QLsms Qupprt (CLL = 125), seir spos

1.4.1980-& <ips Qrsemg T 1,00,0008@ cunmidlermi.

Sige@eniw sheng wHiy 1.4.1981 ¥ 1,20,000.

sjeur 1.10.2016 & myred erevd M Cagan Hlipeiangsle
T 3,00,000 @pge® Qaudlprr. GQfle; 54EC whmnd
1.3.2017 ey manGeu ogsmhilg opi @bdHur

fpeuensdar T 2,00,000 wsadh Gadgerenmt. eoufl

Qegss Celadrigl DeUTE (POSET  USTLISHS

eSS ([Hs.

Following are the incomes

2018.

. £
Director’s fees 6,000
Income from agriculture land in Pakistan 40,000
Interest on postal savings bank account 1,500
Interest on fixed deposit ‘1,800
Winnings from lotteries (gross) 50,000
Royalty on books (expenses ¥ 4,000) 20,000
Cross world puzzle prize 2,500

Compute income from other sources.

11 S.No. 1016

received by
Mrs. Ramya during the assessment year 2017-



dmwod.  ghwur  Qupp au@LraThseT WAL E 19. Shri. Sudhir, an individual submits the following

g é 2017-2018 emeumiommy. information relevant for the AY : 2017-2018.
Particulars Profit  Loss
¥ T z
QubEpT s_Lamb _ 6,000 Salary income (computed) 84,000 5
urdlevgmefiey @@ﬁ@j Quplin’i efeugmw Hle 40,000 [ Income from house property (cémputed)
QU(BLOTGITLD i House ‘X’ 30,000
sLmed CadliiL) eumid) a;msré@ Lﬁ;)’grrm GuL.lg. 1,500 House Y’ - 84000
Blened avautiL] Bamen eul_iq. 1,800 oo R
: k . Profits and gains of business or profession :
e Mude Qeuapg; (Qurgsn) 50,000
- ; Business A 16,000
LSsss5Sler iy (e . 4,000 20,000 ‘
i ) BusinessB | - 20,000
@@5@5@§§1 Cum_iguilé Gupp Lfs 2,500 Business (C) Speculation 22,000 -
Ypend euporaTiismar saméd(s. j , Business (D) Speculation ; - 46,000
L : Capital gains :
18. Explain the deemed incomes with examples.
STCG 12,000
Sigiraflésiiul i euBwraibismer 6T(HdH s (HL6m '
! : STCL - 56,000
el and (G s.
: LTCG 25,000 S

12 S.No. 1016 13 . S.No. 1016




Particulars .

Income from other sources :
Income from card games
Income from betting
Loss from card games

Loss on race horses

~ Interest on securities

Profit Loss

z z

38,000

30,000 .
- 14,000
- 12,000

8,000 -

Compute the gross total income of Sudhir for the

AY : 2017-2018.

wb el eenueur  Spssngmid

Qar{Osgieremmir,

LIRS eT

FLDLIEMLD aUBLOTED (SedEdl il | gi)

I Qergden epeions QuHD eupLOTENID ©

(samédL U0 Lg)
86 X
&S0 Y
VA

14

ofaugmiEemeT

QOMUD eyl b
o T
84,000 -

30,000
- 34,000
- 42,000

S.No. 1016

ellLiymigeT QUL  Begl_Ld
T T
eflwruny wHmib Ggmfia apawrs Qubp
QU(BLOTETLD : ;
eNuimimyd A ; 16,000 -
eQurumrd B ; - 20,000
aﬁmnunum (C) (eas vmmﬂes‘Lb) 22,000 -
- @wrumynd (D) (cas euenfllsin) - 46,000
EPEISE GU(HLOGILD -
STCG 12,000 -
STCL | . 56,000
LTCG 25,000

Ypeaufl eugpLoTanmbiseT :

&0 @ﬂmmmﬁchb dlenL_gg eugplonend 38,000

uUBSWLSHD Hevl_GS eu(HLomennd 30,000 -
LG eflenemuimige Br1ib - 14,000
GHor upgwsHen Sgren HLLib - 12,000
LRIGEaT 6 epeuld Hen 5 aullg 8,000 -

EX 3 erémLicufm pruunamgp@fw 2017-2018 GQuorgs
DBTUILD AHOWF! QTLISMS SerTéE B,

15. S.No. 1616



